eeeeeeeeeeeeeeeeeeeeee

e poncbela Ly gy - 10
SM'%;— (ime

r=y  (goven)

omd e ng\QLO‘{Ov/Lf’L‘ij_:LQ_ —

ping 2=y Dol @

Lfrx_Jer‘ =12

= Lﬁ'a +31:L2

=S 52+45—u:0

= yrreg-2y-t2 =0
yoy(yre) —2bee) =0
-y ety =0
Trarclore, 4= 2,76

w9, oo o equeben,  Lizayt =i
pulbng d;g/m%o‘ﬂamﬁa(f-‘-g’ﬁ"m'

L¢'1+Q/)’)"—'-L9—

= Le +4 = 12
= Ao - &
- &
— ks - =
= 4
> * =2




= Lz + C’bﬁl = >

= L t 26 T A%
:> L,rzr_ — 12-—3@
- ne - —-2Y
L
- -

Mo eldsined @_Ugﬁ‘mﬁ%m,w&m,jzzl»é

- Lz _ 12 _y* (D\wi‘rﬁ Loth <
Ty

Z g
:> xr = —Eﬁ‘l
SE)
Tﬁwam%%mfm aml%wﬁmn %M%h
chosechon o ponk (2,2) amd (-6,20) & gen &y
\owen  cuvure meﬂcﬂb“ﬁ&“
which s | 2



f\/_\
(V]
Cc
|
|

b;

- 3—;} (& ndeyedy)
L

= 2-2 = S%f - —Q——% #<3‘(-6)—@3——H’)’)—

2 o 12 o

:(é - & - i>— (—ig + 216 —34>
2 2 12 =

_8“2/’Q>* L%
=
0 g = 018G
3
= 10+ 54
)
— é‘-(_ &sLumOQ’/S
3




